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Topic:- General Knowledge

1) Who is the Chief Justice of Madhya Pradesh? /

e U & H&T AraThi B 82

1. Justice Sharad Arvind Bobde / TR TRE 3RfdT dfes

2. Justice Ajay Manikrao Khanwilkar / TTNRT 357 AT WHfdeh
3. Justice Hemant Gupta / grareftar %IIT‘T RIS

4, Justice Syed Rafat Alam / TR e B e

Correct Answer :-

« Justice Hemant Gupta / reter 3T T

2) Opium and marijuana are mostly produced in which of the following districts of Madhya Pradesh? /

Ty uew & fAfefaa A @ frd fora # Sreiw SR TRy &1 SdTe- 9ad 3iftre giar g2
1. Chhindwara / m
2. Shivpuri / FRIAGH

3. Jhabua / IT3T

4. Mandsaur / IIE@'\’

Correct Answer :-

« Mandsaur / Ilﬂ@?

3) Who is India’s first and oldest voter who exercised his franchise in the elections held in Himachal Pradesh on
9th November 20172 /

YRT & TUYH 3R TG SURTA I TSI BT 714 1 8, Frgix 9 TdaR 2017 +1 fRumaa uexr & v gAmEal
ST ThaTgSlt BT S¥aHTd faear UT?

1. Upendra Narayan Pandey / 3 Ug AR UIUsg
2. Shyam Sharan Negi / RUTH TR Sl
3. Ravi Prakash Jaiswal / Xfd UebT=I SITagaTel

4. Sunil Kumar Dubey / ﬂ:ﬂa PHR @a

Correct Answer :-

o Shyam Sharan Negi / RTH RRU Gl

‘}) Who haskb;eeq awarded the fNatioqal Kalidas Srammap’ in 2018 for tl}e poqtributiqn tor visual art»s? /
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fagare o d aRTe™ ¢4 & forg, ad 2018 # TP1A Fiferers wF A fd vt fobam man 32
1. Anjolie Ela Menon / 3fSiIelt 3T A+

2. Sudip Roy / gaiu 34

3. Satish Gujral / GelRT ORI

4. Akbar Padamsee / 3{chaR T4t

Correct Answer :-

« Anjolie Ela Menon / SfSIett gt B

5) Who has been appointed as CEO and MD of Infosys in 2018? /

2018 ¥ SHIRMT & Wit 3R Tt & wu A frd g frar mar g2
1. Vishal Sikka / fI=ITeT e

2. Pravin Rao / U410 14

3. Ravi Venkatesan / Ifd dheqM

4. Salil Parekh / TfTd UG

Correct Answer :-

« Salil Parekh / IfoTd URA

6) Kalady in Kerala is the birth place of .
Y H PreTSt BT TR g

1. Ramana Maharshi / YHUI q?ﬁ

2. Adi Shankara / 3T QeI

3. Paramhansa Yogananda / WRAZYH BT

4. Swami Vivekananda / T fdd@Tg

Correct Answer :-

« Adi Shankara / 3(Tf¢ QR

7) The 7' edition of ‘Rashtriya Sanskriti Mahotsav’ was organized on January 2018 in which of the following
cities? /

SIaRY 2018 § AT wraat *gra Wepla weie Frafifea 3 @ few wer A smaifsra forar mar ur
1. Amaravati / 3R
2. Khajuraho / @W

3. Pune/ gef
4. Bangalore / SR

Correct Answer :-

« Bangalore / STER
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8) Which Indian won the ‘Sir Garfield Sobers Trophy’ for ICC Men’s cricketer of the year award for 2017? /
g YRdT A af 2017 A TSR 730 fpde f@aEt & forw <R TRWies Aiaw grwh i sitar?

1. Yuzvendra Chahal / gaﬂa gdgd

2. Virat Kohli / fRTE gt

3. Ravichandran Ashwin / Xfdig 3=

4. Cheteshwar Pujara / Jd%R IR

Correct Answer :-

« Virat Kohli / faxTe ®iga

9) Which of the following weightlifters from India won gold medal at ‘World Weightlifting Championships on
November 2017°, the first Indian to do so in over 2 decades? /

qaeR 2017 ® AT Ay WRIT ufadifiar A &) e=re 91¢ Ul IR YRd &t Fufafaa # 9 fea
e A wauf ugs Shar?

1. Saikhom Mirabai Chanu / TRGH HRTSTS EIGN
2. Renu Bala Chanu / iﬂ EIGIEIGS

3. Kavita Devi / BfddT gat

4, Kunjarani Devi / W:ﬂ adt

Correct Answer :-

« Saikhom Mirabai Chanu / G HRTETS EIGN

10) Which among the following Tiger Reserves in Madhya Pradesh is considered as the real land of ‘Mowgli’ and
the area of the famous ‘Jungle Book’ by Rudyard Kipling? /

negueRr # fRa fFafefad ara srvarval & @ S19 91 AhTelt &1 el YfH ofik Tsars feufen grr
fafaa witrs <iTe g &1 &7 A1 ST @2

1. Bandhavgarh National Park / aT?JEI"T?E QT@TI RG]
2. Pench National Park / UF T@U REIG]

3. Satpura National Park / JIYST IS IM
4. Panna National Park / UdT Tl}?j'q 3

Correct Answer :-

« Pench National Park / U9 TI@U 3

11) Rani Durgavati Vishwavidyalaya is located in which of the following cities of Madhya Pradesh? /
wer TR & Prafiie Ted) & & el 7 giad Rufarey R &2

1. Jabalpur / SISCTYR

2. Indore / 3@?

3. Bhopal / Hard

4. Ujjain / I5oid
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Correct Answer :-

« Jabalpur / SIITYR

12) CANCELLED

Who is the Chief Electoral Officer of Madhya Pradesh? /
AU & g fafe st S 82

1. S. Murali Krishna / Td. H?T“ﬁ Eayll

2. Dr. Rajat Kumar / S 39 PHR

3. Teeka Ram Meena / S1obT 1T HHT

4. Saleena Singh / el f@rﬁ'

Correct Answer :-

« Saleena Singh / el ﬁl_e'

13) Who is the Chairperson of Madhya Pradesh Human Rights Commission? /
A Y AT TUPTR AN & 3reael B 82

1. Justice Narendra Kumar Jain / ?Irqqﬁf s PHR S

2. Justice S.R. Bannurmath / WWW aREY

3. Justice Rajiv Gupta / :CITCITL% I RIS
4. Justice Prakash Tatia / IITEI'J:I‘jﬁl;IWI'-‘ZT arfaan

Correct Answer :-

« Justice Narendra Kumar Jain / Wfqﬁﬁ:ﬁ? PHR L

14) Where is the head office of Madhya Pradesh Financial Corporation located at? /
T yext fa<ita fonma &1 ey wrafea et fRa 32

1. Jabalpur / SI§¢TYY

2. Gwalior / TTTCRIR

3. Indore / 33 N
4. Bhopal / uard

Correct Answer :-

e Indore/ _Q'EaT

15) Smt. Anandiben Patel was the Chief Minister of which Indian State before taking over charge as the Governor
of Madhya Pradesh? /

A YT & ISTUTd & FU T YUR A A 7d it srediad ued frd uRdta I ot gt &2
1. Rajasthan / TSI

2. Maharashtra / HEIRTSC
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3. Gujarat / T[SIRTd
4. Chhattisgarh / STIITG

Correct Answer :-

o Gujarat / T[SIRTd

16) ‘Rashtriya Sharad Joshi Samman’ of Madhya Pradesh Government is awarded in the field of .

AW WTHT GRT ’TER IRG S TR D & &7 ¥ fear s 3|
1. Hindi satire / %'_pr Y

2. Hindustani music / %Wl:ﬂ Gifid

3. Social service / AT TdT

4. Classical dance / QI I

Correct Answer :-

o Hindi satire / i%iﬂ Y

17) Who is the author of the epic poem ‘Padmavat’ written in 1540 in Awadhi dialect? /
gl qiefht F 1540 B ford 1€ HRTHTH UgHTI F WRAAT BT 82

1. Malik Muhammad Jayasi / Afcier gHG SIS

2. Abdul Rahim Khan-e-Khana / 3fegcl Q@T{ ATH-T-d[T

3. Kabir / PER

4. Amir Khusro / 3R W

Correct Answer :-

« Malik Muhammad Jayasi / afds HeHa S

Topic:- General Hindi

1) <3A9UP & fore wgt Wit fawde #t gful
1. HF+UNIT
2. 3N
3. HF+auu]
4, 3{+UYU[

Correct Answer :-

o SH{J+UNTT

2) Ve BT gerR &1 3 g fiea A A HTare?
1. 4G QU

2. ¥ @ierT

R ERCINE
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4. NI T QAT

Correct Answer :-

RVCRCICE|

3) YN & fore w&t yaigar! ar wsgi 3t ufed & gf)
1. 9, <8, Td

2.7, &8, TRId

3. 1, &8, T

4. T, 3{g, TId

Correct Answer :-

- T, 38, T

4) @1 & forg wgt Wit fa=de =1 g
1. XG+3{IId

2. g+3{ITd

3. g+3HITd

4, XqH+3ITd

Correct Answer :-

5) S T A 8P & ford U Wieg M A A o9 w1 32
1. YR

2. 3

3. faemyg

4. 3T

Correct Answer :-
o Y
6) “qgI IGT P Bl 71§ a1’ & ford U g P A A p W 82
1. Sfar=aifaa
2. SfTfcr=at
3. ffc=afad
4. TR

Correct Answer :-
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7) HIYT DT PgTax BT I g farcai s A s arg?
1. I A g

2. Qah! gl ST

3. %% A g

4. 7% B ST

Correct Answer :-

.« &H SIS

8) W T YG TU AT I DT ATS?
1.9
2. GUR
3. WURT
4. WIUR

Correct Answer :-

9) =}’ & T TEt wataarh a1d Wsg! Ft ufed &1 Q)
1. Ry, oy, gz

2.RXg, 3R, gz

3. Y, o, g=o

4. RQR, 3Rk, gz

Correct Answer :-

- g, oy, g=mA

10) TR uTa R 74 S| - § 3 T & 919 91 seeR 22
1. (e SAdR

2. AT 3fADR

3. IopIfad ABR

4. 3UAT PR

Correct Answer :-

« 30T AAPR

11) Y& T4P G0 U9 TR | - B 9 o @ 319 91 3 82
1. Tofad SAPR

2. 4T S[ABR
3. Gehliad SADHR

GET IT ON
Google Play
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4. 3UHT [ADPR

Correct Answer :-

« 30U PR

12) FARIE’ P1 Ol IS fug Fgd A daarg?

1. T BT 3T
2. 9 & foIg eirg
3. 9 & 3B
4. 9 | 3TIG

Correct Answer :-

. I3 & foru 3imrg

13) <31 T A T g A A A BT AT R?
1. 3Fia

2. 38

3. 3OHM

4. 3o H

Correct Answer :-

14) ‘pfew &1 A9 A A Hi9 a1 91 faei U= 872
1. Rp
2. ¥RA
3. R
4. RA

Correct Answer :-

15) ‘pHw &1 " A | Fi4 1 9 fady s 22
1. Wfddh

2. WIHTfAD

3. WHTfdD

4. WATlde

Correct Answer :-

. WHIfd®

GET IT ON
Google Play
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16) f ST A TT v g A @ AT E?
1. 989
2. v\

3. faga
4. o

Correct Answer :-

17) STHIGT gR UTeq gerrd |

TR GERTA HegTd wilg Hig dg M| - A Pa A A S a2
1. A% ™

2. 3GYA T

3. AT

4. PR

Correct Answer :-

GRS IR |

Topic:- General English

1) Choose the correct form of tense for the given sentence:
We usually _ our dinner by 9pm every day.

1. was eating

2. eat

3. will eat

4, eats

Correct Answer :-

2) Spot the error in the given sentence:

The judges were impressed by her performance during the debate that they award her the first prize.
1. By her performance during the debate

2. The judges were impressed

3. The first prize

4. That they award her

Correct Answer :-

« That they award her
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3) Select the suitable conjunction to complete the given sentence:

They were sad they were not granted permission to attend the concert.
1. so

2.if

3.and

4. because

Correct Answer :-

 because

4) Choose the correct form of modal auxiliary verb for the given sentence:
Jim has been travelling all day by bus and so ___ be very tired.

1. must

2. shall

3. would

4. can

Correct Answer :-

5) Choose the most suitable determiner for the given sentence:
__the candidates qualified for the second round.

1. No

2. Few

3. None of

4. None

Correct Answer :-

¢ None of

6) Choose the appropriate articles to complete the given sentence.

Which is ___ tallest mountain in India? Is it Himalayas?
1. the, the

2. the, a

3.a,a

4. a, the

Correct Answer :-

« the, the
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7) Choose the appropriate articles to complete the given sentence.

Hundred centimeters make __ meter and thousand meters make ___ kilometer.
l.a,a

2. the, the

3. the, a

4. a, the

Correct Answer :-

8) Choose the appropriate preposition to complete the given sentence.
Give us a reason ___ quitting.

1. about

2. over

3. for

4. on

Correct Answer :-

« for

9) Choose the appropriate form of the verb to complete the given sentence.

I___ that you apply for the post.
1. suggesting

2. suggest

3. wanting

4. wanted

Correct Answer :-

 suggest

10) Choose the most suitable prefix for the given sentence:
The Panama Canal is a ___-made waterway.

1. man-

2. under-

3. re-

4, self-

Correct Answer :-
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11) Choose the option with the appropriate punctuation inserted in the given sentence.
Since its raining lets stay indoors

1. since it’s raining, Let’s stay indoors.

2. Since it’s raining, let’s stay indoors.

3. Since it’s raining lets stay indoors

4, Since its raining, lets stay indoors.

Correct Answer :-

« Since it’s raining, let’s stay indoors.

12) Choose the correct form of verbs that is in agreement with the subject:
Iamalways  mykeysand ___ new ones made.

1. lost, got

2. losing, getting

3. lose, gets

4. loosing, got

Correct Answer :-

« losing, getting

13) Give the noun form of the underlined word in the given sentence:

His deny of not cheating in the examination was not accepted by the Principal.
1. denialment

2. denyness

3. denialness

4. denial

Correct Answer :-
« denial

14) Fill in the blank with the progressive tense (continuous tense) of the verb from the given options:
Virat very well in this inning.

1. batting

2. was batting

3. will be batting

4. is batting

Correct Answer :-

« is batting
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15) Choose the appropriate preposition for the given sentence.
The fan my head is making a lot of noise.

1.on

2. about

3.at

4. above

Correct Answer :-

« above

16) Choose the option with the appropriate punctuation inserted in the given sentence.
Pride and prejudice is probably the most famous of jane austen novels

1. pride and prejudice is probably; the Most famous of jane austens novels.

2. pride and prejudice is probably the most famous of jane austen novels!

3. Pride and prejudice: is probably the most famous of Jane Austen’s novels.

4. Pride and prejudice is probably the most famous of Jane Austen’s novels.

Correct Answer :-

« Pride and prejudice is probably the most famous of Jane Austen’s novels.

17) Choose the option that best transforms the given sentence using a question tag:
We have to pay for the broken chair,

1. haven’t we?

2.isn’tit?

3. don’t we?

4. didn’t we?

Correct Answer :-

o don’t we?

Topic:- General Maths

1) In a two-digit number, the digit in ten’s place is 2 times the digit in one’s place. The sum of this number and
two-digit number obtained by reversing the original number is 99. Find the number. /

&1 3! aTelt U T |, 8T I aTdT 3 SHTs WA aTd 3P BT G ¢ | 50 S 3R Ta 6B &
3P| BT GhH B A YT T BT AT 99 § | AT 1 B |

1. 63
2.42
3.24

4. 84

Correct Answer :-
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2) The least number which when divide by 12, 15 or 18 gives the remainder 2 is: /
98 gAqH BT W1 12, 15 T 18 | UG F37 W Avwa 2 3 2

1. 182

2.162

3.360

4,178

Correct Answer :-
o 182

3) If the exterior angle of a regular octagon is x degrees, then what is the value of x? /
Tfe TP AT ey FT afgshivl x fER I A x Fraum s 82

1.45

2.40

3.35

4,30

Correct Answer :-

. 45

4) Let 680 =225 x 3 + 5, so that H.C.F of 680 and 225 is the same as the H.C.F of and , respectively. /

T T 680 = 225 x 3 + 5, TARTY 680 3 225 T HETH IHUGAP, FAW: 3R F HgawH
TUIGdS & GHH R

1.680,3
2.680,8
3.225,3

4.225,5

Correct Answer :-

5) Three interior designers can design a room in 6, 4 and 3 days respectively. If they decide to join together, then
how many days will they take to finish designing the room? /

T AR fETTER TP FHR B HHRM: 6, 4 3R 3 A1 A fews &% 9GP §1 afe 3 U 1Y &0 F &1
fufg a4 &, 9 3 IR F} fems i frar i o gura s a1

days [/ %%ﬂ'

| e
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= days /
2. 2

Hjﬁ;ﬂ

Lh | e

g days /
3.5

= days /

GG

e | L

4.

Correct Answer :-

4 4
Zdays/ - o
3 ) 3

6) One hundred and ninety-five degrees is equal to: /

T 9l tard {53t 39 Rev @:

1. More than half of a revolution / Th IRHHU & Y T 3HYH

2. Half of a revolution / Tdh TR HUT BT 3MTEM

3. Less than one fourth of a revolution / Tch uReBHU & Th Eﬁ%ﬂé I HH
4. One fourth of a revolution / T TRSHH HT Th Eﬁ?ﬂg

Correct Answer :-

« More than half of a revolution / Th uRHHu & Y T 3HfH

7) Raman claims to have the maximum pocket money when compared to his siblings. All of them get money in 3
figures but Raman claims that he gets pocket money which can be divided equally among 70 people. What is
Raman’s pocket money? /

I 191 BT 3 fop I Uy SHd UIS/ae-l @1 o # Sfftrean 99 T g1 39 9t 31 839 3 ol
ﬁaﬁ?ﬁjﬁ%m@mm%%wmﬁa@ﬁﬁw%ﬁmEﬁﬁ%&ﬁawa‘hwmélm=r
DT fha-Ta:

1.Rs. 975/975 204U
2. Rs. 999 /999 ¥YU
3. Rs. 990 /990 ¥YU

4. Rs. 980 /980 >UU

Correct Answer :-

« Rs.980/9802UU

The length of a rectangle is 39 39 cm and its breadth is E cm. What is the area of the rectangle in cm?? /
U T 4 des 39.39 dA ¥ 3k sady dies i%ﬂ’r ¥ 3raa & Aaeer JE2 T Far
87

1. 124.65

2.120.45

3.136.35
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4. 148.45

Correct Answer :-

« 136.35

%
10) 15, polynomial 2x2 + mx - 4 has %as one of its zeroes, then the value of mis: /
I T TgUC 20+ mx-4F YA A F @ - §1 A m AW L
1.-7
2.7
3.-1
1
4.2

11) The factor of a®-343b% is- /
a®-343b® & IUHAES &

1 a®-v3ab+3b?

, ad- (3 by

3. a’+y3ab-3b°

4, a®-v3ab +h°

Correct Answer :-

GET IT ON

Google Play
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12) : 3 9 5 F 9 41
Find the averageof —,—,—,—,—,—
2'10'4'6" 20" 15

b L A :
————— &I 3iEa aa #

13) Richard finished his test in % hours. Fonald finished the test iné hours. Who wrote longer and
by how much? /
R=s E‘r%é‘z‘f # 39T &FE §AT W foan| Adtes E‘réﬁf # HUAT &FE FATT &
foram ey & o ik ot arfaes & foar

Ronald =ihou.rs ! TeTes, & T
1 12 12

Richard =§ hours / =5, % T
2.

Ronald é hours / Tl vﬁ,i e
3.

Richard =ihou_rs | =8, i, e
4. 1 12

Correct Answer :-

Ronald i hours / T=Tes, i g

14) Find the solution of e+l 2 !
2x-5 5
+3 4 :
T2 = Z Fr e AT B
2x—5 5
1.11.33
2.5
5
3.3
35
4,

Correct Answer :-
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15) Ifoneofthe zeroes of a cubic polynomial f(x) =% - 19x + 30 is 2, then find the other two

zeroes. |

I T T 9gUE f(x)=x* - 19x+30 & YT A § TH 2§, Al 39 & > A

Correct Answer :-
« 53

75327 . :
. will terminate after: /

16) The decimal expansion of number —
75327

TET —— & gRIfHE YOR 50 d1G GATd BT

2500
1. Two decimal places / 3 TRHAd R

2. Four decimal places / IR qRIHAd RITH
3. Three decimal places / A< GRIHTd I
4. One decimal place / Uh qRIHT RITT

Correct Answer :-

« Four decimal places / IR GRIHAT R

17) Z.Erepresents: !

2.45 5T wiafafce #=<ar &
1. An irrational number / Th SURAT T
2. A whole number/ Tdh CI;UT R PCl|
3. A rational number / Tdh uRag TE
4. An integer / WW

Correct Answer :-

o A rational number / U qﬁal'q &1

Topic:- General Aptitude

1) In a box carrying one dozen of mangoes, one-third of them have become bad. If 3 mangoes are taken out from
the box at random, then what is the probability that at least one out of the three mangoes picked up is good? /

T A& RO T goie oM &, 398 9 Uoh-fee SR 8 A §1 gl 8 § 9 3 o &) arefdde 9 A aex
frTa wiTar @, @) a1 wiikiedr girft 6 e TR i oAl & @ $9 3 1 U 31?2

Ln
e

L
L
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2
2. 55
53
3, 55
5
4. 33

Correct Answer :-

L
e

Ln
Ln

2) In a code language ‘mok dan sil’ means ‘nice big house’ ¢ fik kon dan’ means ¢ house is good’ and ¢ warm tir
fik’ means ¢ cost is high’. Which word stands for ‘good’ in that language? /

Th IS HTUT ‘mok dan sil’ BT GI'?I% ‘nice big house’ ‘fik kon dan’ T G'I'Qf% ¢ house is good’ Gﬁ?' ¢ warm tir fik’
BT 3 B “cost is high’ | T HIS HTHT A P AT U ‘good’ PT TP 872

1. Mok
2. Kon
3. Sil
4. Fik

Correct Answer :-

« Kon

3) How many such letters are there in the word “CATEGORY?” each of which is as far away from the beginning of
the word as when they are arranged in an alphabetical order? /

"CATEGORY" XTeg H U fora 31&R &, &l Ireq 31 H3ATT A I+ 8 g W & O o w19 3= avfaren wa
afeyd farar sirar 82

1.2
2.1
3.3

4.4

Correct Answer :-

4) When the price of a product was decreased by 20%, the number sold increased by 40%. What was the effect on
the total revenue? /

q U SATE B DI 20% TH HH B &1 TS, 1 a1 T3 ST H 40% DI IS §3 | T M W T YHG
qsT?

1. 10% increase / 10% Q'@

2. 13% increase / 13% ?{@
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3. 11% increase / 11%?1'@
4. 12% increase / 12% T{@

Correct Answer :-

« 12% increase / 12%@@

5) The letters of the word ‘ARTICLE?’ is arranged in different ways randomly. What is the chance that the vowels
occupy the even places? /

‘ARTICLE’ ¥Isg P 31&R) ! grefwye U A faft adiel & sqafeyd forar sirar 81 = v @ f w@r, 99
T TR 3T &2

N
(S Lad Lad .
th»_- u,‘|h.1 ‘-"l"“

[
u-.lL-'—’

4.

Correct Answer :-

)
l.,~||’_'

6) A train travels from A to B at the rate of 50 km/hr and from B to A at the rate of 30 km/hr. What is the average
rate for the whole journey? /

TH ¢ A A B B a1 50 HHi/teT 3t ara A Hdl 8 3N B T A 9% 3t a1 30 frwll/wer o ara I Fredl 81
T8t g F e e =re @ 82

1.37.3 km/hr / 37.3 fopHi/der
2. 37.4 km/hr / 37.4 foHI/der
3.37.5 km/hr / 37.5 fopH/deT

4.37.2 km/hr / 37.2 foHi/der

Correct Answer :-

« 37.5 km/hr / 37.5 foeH /AT

7) If ‘COMPETE’ is coded as ‘DPNQFUF’, then how will you code ‘WARFARE’? /

Tfe «COMPETE’ ® ‘DPNQFUF’ | HI{&d fU1 SITa1 €, Y 3TT ‘WARFARE’ $ 8 BIfSd H31?
1. XZXGFHP

2. XBSGBSF

3. GVHLVGB

4. VHIGADQ
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Correct Answer :-

+ XBSGBSF

8) In how many different ways can the letters of the word ‘PRESENT’ be arranged? /
e fafta adil & reg PRESENT’ & 3H&RT B afeyd fawar o waar 32

1. 2520

2.2510

3.2515

4. 2505

Correct Answer :-

e 2520

9) Radha reaches school from her house in 21 minutes. Gopal takes 35 minutes in covering the same distance. Find
the respective ratio between time taken by Radha and Gopal. /

YT 21 FFe ® 3vA W A Tpd ugadl B 1 MUt 31 gt Bt a1 A | 35 e dar 1 e o it gy

o T wwa & g H&fta sruTa 91 SR
1.2:3
2.5:3
3.3:5
4.3:2

Correct Answer :-

10) Rajesh’s present age is two-fifth of the age of his father. After 8 years, he will be one-half of the age of his father.
How old is the father at present? /

IR B IAATH 3T, 3P T 3y o1 1-uiwdl 81 8 a6l & q1g, I8 U FUar H1 3y BT ST |
T # 3T U 1 oy i 22

1. 48 years [ 48 ay
2.32vyears/ 32 G
3.36vyears/ 36 L
4. 40 years / 40 ay

Correct Answer :-

e 40vyears/ 40 L

11) The age of mother 5 years ago was thrice the age of her son. Five years hence, mother’s age will be twice that of
her son. The respective ratio of their present ages is .

5 a9 Uga, Wi Y 3T WD 92 B 1Y Y i 71 | i aut F 91e, 7 B g 3P 3¢ & I et
TP T 3MMg BT He i SguTa gl
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1.5:2
2.13:4
3.9:2
4.7:3

Correct Answer :-
o 7:3
12) CANCELLED

Which letter should be 9th letter to the left of 9th letter from theright end. if the first half of the
English alphabet is reversed? /

afe 33l auiAmeT &1 uger ST 3 BT T & a1 gl avw & 97 3aW dT 9
3R 97 &R Tl @ gl AW

1.E

2.1
3.D
4. F

Correct Answer :-

- E

13)

When 30 is subtracted from a number, it reduces to its 73%. Whatis % of that number? /

9 30 F T §Ear § geEn Aar &, ar 95 3O & ?59,5a$ws’raw—rﬁ%|3'ama:réwm

1.92
2.94
3.96

4.90

Correct Answer :-

14) Ganesh purchased a mobile phone for Bs. 5600 and a refrigerator for Bs. 9400. He sold the

mobile phone at three-fourth of its cost price and the refrigerator at 1; of its cost price. What is

the profit or loss? /

T o 5600 & F U AlGS B AR 9400 & & U eyl @lie 390 AEsd
BIe I IHH ARG Hed & dia-=us Aed W a9 Gar 3R M &1 389& deg
Hed & 12 W 39 feam em o g & g2

1. Rs. 1744.33 loss / 1744.33 3. 1A
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2. Rs. 1733.33 profit / 1733.33 5. @Y
3. Rs. 1733.44 loss / 1733.44 3. g1
4. Rs. 1633.33 profit / 1633.33 %. @TH

Correct Answer :-

o Rs. 1733.33 profit / 1733.33 %. ¢lH

15) In what proportion must water be mixed with spirit to gain 162% by selling it at cost price? /
feafte # T 3rqara & unell WHemar =ifge arfd emra Hed W d9d §T 162% Fr

T HHATAT AT Th?

1. 1:6
2.2:6
3.4:6

4.3:6

Correct Answer :-

Topic:- General Computer

1) In MS Excel 2010, what operation does F1 performs? /
THEY THA 2010 H, F1 T HTY BT 82

1. Edit / Ufge

2. Paste / ORC

3. Help/ Kyl

4. Redo / ﬂ_ﬁ'

Correct Answer :-

. Help/%?q

2) In MS Excel 2010, which of the following tabs is used to insert rows and columns? /

@Q%mazomﬁ,ﬁaﬁ?ﬁ?mmﬁﬁﬁﬁm%mmﬂﬁﬁmhmwm
ST 82

1. Insert tab / sﬂ_cg %_Q'
2. Home tab / Eﬁtr?‘q'
3. Design tab / TS24 ]
4. Layout tab / 33T eF

Correct Answer :-

« Home tab / Bﬁﬁa


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaiu47 Eooale Play

3) In MS Excel 2010, numerical data in the cells may contain: /

THEE TR 2010 ¥, Ja1 A G=ATHS ST # e IufRue 8 aoar g:
1. Subtract only / Hdd Jed

2. Add only / Had TS

3. Multiply only / dd Hee TS

4. All of the above / STJaRT THt

Correct Answer :-

« All of the above / B'Cl'éaﬁ it

4) In MS Excel 2007, what does protect sheet do? /

THEY TaAd 2007 §, Mieae 2 o1 &l 82

1. Apply protection only to columns / I DITH TR WICa-MA Fﬂ"lm %I
2. Apply protection only to a cell / I Id W TR aﬂm =

3. Apply protection only to rows / Fad A W UeaRH ﬁl”laﬂ_cﬁ % I

4. Apply protection to the worksheet / JH M R UeRH Fﬂ"lm % |

Correct Answer :-

« Apply protection to the worksheet / LA R CENE] Cll] Pl %I

5) In MS Excel 2007, which of the following functions used for arithmetic operations is incorrect? /

ngmﬁéomﬁ,aiamﬁﬁﬂumsﬁ(amaﬁmm%ﬁmmmwmﬁﬁaﬁﬁﬁ
T ITed 82

1. AVERAGE
2. SUM

3. COUNT

4. TOTAL

Correct Answer :-

« TOTAL

6) In MS Excel 2007, time can be in the format of: /
THUY TR 2007 H, 99T A9 w1 # 8 godr 8:
1. 12:00:00 only / ad 12:00:00

2. 12:00 only / Had 12:00

3. 12:00:00 PM only / &ad 12:00:00 PM

4. All of the above / Btlgaﬂ quft

Correct Answer :-
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« All of the above / B'crgiaa it

7) In MS Excel 2010, the shortcut key which is used to date format day, month, and year is:/

THUY TR 2010 H, 98 Yiddhe 31 &l e wide § fa=, a8 o a¢f ¥ R Sudh Y et @, A 2
1. Ctrl+Shift+#

2. Ctrl+Shift+/

3. Ctrl+Shift+O

4, Ctrl+Shift+D

Correct Answer :-

o Ctrl+Shift+#

8) In MS Excel 2010, Quick Access Toolbar provides access to: /
THTH TR 2010 H, fPF T gaaR 399 9% o1 Ugd e Hdl &:
1. Frequently used commands / 3R I fHT S aTed SMe=

2. Shapes / Wﬁl’q\f

3. Pictures / Al

4. Symbols and Equations / ﬁl%af 3R gt

Correct Answer :-

o Frequently used commands / SRR IYgNT ﬁ?ﬂf S aTd 3R

9) In MS Word 2010, the shortcut key used to cut character is: /

THTH T8 2010 H, YT I e P & ¢ e Wicwe o1 1 sxaATa fHa1 o 5:
1. Ctrl+P

2. Ctrl +X

3. Ctrl+V

4, Ctrl+Z

Correct Answer :-

o Ctrl +X

10) In MS Word 2007, when you press ‘Alt+N’ you can access the: /

THTH T8 2007 §, TG 3T Al + N' GaTd § df 3177 §H T o 9 &
1. Insert tab /gﬂé %a

2. Home tab /E;I'q%a

3. Design tab / SFIED |
4. View tab / & ¢§

Correct Answer :-
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o Insert tab / gﬂé |

11) In MS Word 2007, the maximum size of file can be ./
THTH T8 2007 H, 3iftrean IS B BT3d 81 9t gl
1. 400MB

2.512MB

3.256MB

4. 440MB

Correct Answer :-

- 512MB

12) In MS Word 2007, ribbon is used to change the margins, page orientation, and page size or other
features that affect the layout of your page. /

THTH T8 2007 ¥, a1 &1 sxauma wiii, gy sififa=ma @ sifvgesm), ok g ek @
TS T 30 BRI $ 9o & [T fHar SIrar @ S 3ush U & A3 HI gHIad Bed

1. Page Layout / U 3Mm3e
2. Page Reference / BEARLTES
3. Design / K[ EES|

4. Layout / dam3e

Correct Answer :-

« Page Layout/ U W33

13) In MS Word 2010, a small character can be created below any character this is called ./

THH TS 2010 §, TS BIET HYae [Hl 3 Hgex & AId 9141 o 9l g ford HgT AT 8
1. Subscript / BSCIREgY

2. Bottomcharacter / STcHPB G

3. Bottomscript / SicHf&py

4. Superscript / W

Correct Answer :-

« Subscript / GEREHY

14) The Quick Access Toolbar on the top left corner in the MS-Word 2007 consists of which one of the following
options? /

TATH-TS 2007 H ST 9¢ $H R fw v gaar d Fafafea @ o ar faww fAfta @2
1. Word Count / 98 BT3¢

2. Save / T

3. Bookmark / w
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4. Hyperlink / 8T8WRfdi®

Correct Answer :-

« Save/dd

15) The brain of a computer is the .

TS PR BIAMRTSS _ giargl
1. Integrated circuit / 3@@@3 e

2. CPU / HiURg

3.CD /ISt

4. Monitor / ATHIEX

Correct Answer :-

. CPU/¥IUY

16) The F1, F2, F3, etc. keys on the topmost bar of a keyboard are called ./
Pt S & MITH IR W F1, 72, F3, 31T Hiomar P gl

1. Fuel Keepers / /R[S PO

2. Fact Keys / o W

3. Function Keys / Tha= W

4. Special Keys / faRy ?ﬁﬂtﬂ

Correct Answer :-

« Function Keys / o= ?ﬁﬁcﬂ

17) Page orientation can be in: /

U siifvaeres o & 81 wbar o:

1. Both Landscape and Portrait / dSwhY 3R tﬁé\"{ aHl
2. Landscape only / FId ASTHY

3. Portrait only / &Had thg?

4. None of the above / B"TQTJR‘T oI P a1

Correct Answer :-

« Both Landscape and Portrait / deWpY 3R qﬁ‘c’ gl
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